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M F=EH ARG HHI
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SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
==H 550,217 508,862 41,355
F=EH A3 393,544 373,502 20,042
SR PNN 59,000 44,000 15,000
FRITRIE] AFY 15,000 15,000
101 QIAHI 2,400 0 2,400
M IRNZZ2NSE S 2,400 0 2,400
OxgHY 212 ZHIJl S 2URY
80,0002 10«33 2,400 0 2,400
201 er2 3| 6,200 0 6,200
01 At2t2lt] 200 0 200
Oxgtd ez 338l 23 200 0 200
03 A2 HHI 6,000 0 6,000
O=& Z2Iif & EAZANE Izl 6,000 0 6,000
301 LEENS 5,400 0 5,400
03 A 2E A4S (XL THH) 4,700 0 4,700
O=ZEH SHL XA 4,700 0 4,700
11 HARHIXES 700 0 700
O=& ZZ|0i3 L EJBNE EIIXF B4 700 0 700
401 AlEBIYL S CTHYI 1,000 0 1,000
01 AlZHI 1,000 0 1,000
OMEDISI X & HY 4X
200,000 *5H 1,000 0 1,000
=OIS oA 289,789 283,449 1,340
LEHYXH 86,088 81,748 4,340
201 fet=3| 79,938 75,598 4,340
2 S22l 60,723 54,583 6,140
02323 4 HAl 20,197 19,057 1,140
-SX& doteEes
125,000+ 122 1,500 360 1,140
OAIZ &l |XI2eld] 30,300 25,300 5,000
-EAL ¥ SX2 g S FH 25,000 20,000 5,000
03 A2 HHI 0 1,800 21,800
OJtor2eH=Tl =2H| 0 1,800 21,800
FUESEY 186,640 189,640 23,000
301 EtE NS 174,240 177,240 23,000
11 HALAHIXIR S 0 3,000 /3,000
OJI0F22HE Ml EIHAF 24 0 3,000 23,000
KIS ORI AL 44,755 41,053 3,702
INE:P I PPN 3 44,755 41,053 3,702
101 QI24H] 31,255 28,253 3,002
M IRIMZZ2XNSE S 31,255 28,253 3,002
Onts 33t =2y
76,9602 13«33 3,002 0 3,002

_1_




of
i’
oF
uJ

D 71
7p o
E
<F
TR
K K] 31
KFKF R

IF RO

ch9)

S8 8188181818 S22 (21818 8 @B 8 I |¢ ¥ o
NIF SlS22]|g|e S|R|nlalale @ S = NININ N~
- — || — | NM~]|M~ @ ™M Al | WO |Ww [Te)
m_w RIK|IK|K/|K & 414 4
E
F=)
2Bl8 213383833 212121212 IS 3
SIs  |SIS|S|s|S AN NN
= R RNL|L|2|€ S BB | N Q18 &
RO
~
wwm%m%%%m%%%ﬂm 8 @8 8 39 1o
BB ~lS|s|S|2|e S|e|ele|sNy o S - Nl|lals S
SRS 8|8 |B|8|8 KISV |B|D © @ N2 @
al
<
=
@ owm << << ]
o % o o o 1l =
; BEiog =
o S m,omzomc%% 8
M_ = 8 S S g8 e
? &3 2 2oy [
3 g
= [o0]
=< >
o
x
= 3l =
= i+ =
[ — 3
= || 5 P
o 5 W ol I+ =) r T
. g o = ok ) i) <l o
= oo o |3 ) ] S| |=
i o R Al | oF = |5 =
i Mm Mn == = _ Us |
— — | = 0 — o | =
I+ 1N
<]




